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2
I exp(t;l )
fr(t)=1 exp(- 1t),0<t<¥0<I @
Fr(t)=Q fr(t)dt =1- exp(- 1t)
R(t)=1- Fr(t)=exp(- I t) ©
t
2.1
E[T] V[T]
E[T] = § tf (tht =|1= q &)
V[T]= g rr(th =|i2=q2 @
0
2.2
f+(t)
fT(t = O): I 5)
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36.8% 50.0%
2.3
Derrick
(time between falure)
(cebugging)
3
n
(1) () n
n r(r<n)
10
3.1
3.1.1
fr(t) =1 exp(-1t),t>0,1 >0 ©)
n r r
t1Et, £--£1,
tl’
g
T(tr): L+t +-+L =at,
i=1
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MLE) !

( )
[t; . t; +dt;] f(t;)at; =1 exp(- I t;)dt;,i =1,2,....r n
r t, [exp(-l t,r)]n'r

K[l exp(- 1 to)atq|[1 exp(- 1 ta)dt o)1 exp(- 1t ), |[exp(- 1t,)]"" (10)

k
L(I):Irexp{-l[t1+t2+~--+tr+(n- r)tr]} 1)
In[L(1)]=rint - 1 [ty +to 4+, +(n- r)t,] (12)

|
= [ttt (n- 0] =0 13
| MLE
|A _ I
() 0
T(t,) =ty +to++t, +(n- 1)t n r
tt n
q=1I MLE
A T(t,
G=z= (r ) (15
Ii(t):ap(- ft):apgg 19 (16)
€ qo
[ 1 9
=7 8 9 7
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650 450 150 530 600 500 700

I d MLE
[ ] =9 r=7 t=700

T(t)

(hr)

T(t,) = 650 + 450 + 150 + 530 + 600 +500 + 700+ (9- 7)700 = 4980

| qg MLE

3.1.2
fr(t) =1 exp(-1t),t>0,1 >0
n r r thWEt, £---£1,
[O’tr] r
r
Pr{X—k}—Mex (-11), k=012
=k = e , k=012... 17)
n i [0,'[)
Xi Xl’XZ""’Xn n
Y =X+ Xy +ee+ X, n [0,t)
nl t
nl t)¥
er{y =k =0 (- ) @
(MLE) !
( n
[t; .t +dt;) (nl ot Jexp(- nl dt;),i =1,2,....r
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k[nl dt, exp(- nl dty)][nl dt, exp(- nl dt,)]---[nl dt, exp(- nl dt,)]

=k(nl ) exp[- nl (dt; +dt, +---+ct, )Jdtydt -, 19
K dty +dt, +---dt, =t,
L(1)=(nl)"exp{- nit]} (20)
In[L(i )]=rin(nl )- nl t, 1)
|
i
l—' rtr =0 (22)
| MLE
|A = r :L 23
) " =
T(t,)=nt, n t n
q=Y MLE
S — i — T(tr) _ﬁ
q= I’* - r - r (24)
- ~ e to
R(t):exp(- | t):@(p(;- ~= (25)
e 1]
[ 2 7
9 1 1 650hr 2
2 40h  70h 3 2 120
hh 40h 4 1 50 hr 5 1
600hr 6 2 Hhr 60h 7
| q MLE
[ 2] n=7 r=9 t, =700hr
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T(t,)=rt, =7 700 = 4900 hr
| q MLE

|A:i

0.001837fr /hr
4900

a=%00=544.4hr

3.1.3
fr(t) =1 exp(-1t),t>0,1 >0
n to
[0t] ¢ ty Et, £-£1,
MLB) !
( ) [ti.t; +at;]
f(t;)dt; =1 exp(- I t;)dt;,i =1,2,...,r n-r to

[exp(- I to)]n'r

K[l exp(- I ty)dty ][l exp(- 1 ta)aty ][I exp(-1t, )t |[exp(-1to)] ™" (26)
k
L(1) =17 exp- 1 [ty + to -+t +(n- 1)t} 27)
In[L(1 )] = rint - 1 [ty +tp 4+t +(n- r)to] (29)
|
IL-[t1+t2+-.~+tr+(n- r)to]:O (29)
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| MLE

T(to) =ty +to++t +(n-rftg=ati+(n-rjtg n

o n

R(t)= exp(— ft): epe Lo
é
[ 3 7
700 7
650hr 450h 120hr 530hr 600hr 450 hr
g MLE
[ 3 =7 r=8 =700
T(to)

T(to) = 650 + 450+ 120+ 530+ 600 + 450 + (7 - 6)700 = 3500

(30)

MLE

(3D)

(32

| q MLE
A 6 _
| =——=000174 fr/hr
3500
q= 3900 _ sga3py
6

3.14
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fr(t) =1 exp(-1t),t>0,1 >0

n o
[O,to] r tl£t2 ££tr

erix =k = ool 10), k=012,

" (33
n i [0,t)
X X1, X5 Xy
Y =X+ X, e+ X, n [0,t)
nl t
k
Pr{Y =k} = (”'kt!) exp(- nl t) (34
(MLE) !
C )
[ti.t; +dt;) (nl dt;)exp(- nl dt;),i =1,2,...,r
k[nl dt; exp(- nl dt,)][nl dt, exp(- nl dt,)]---[nl dt, exp(- nl dt, )]
=k(nl ) exp[- nl (dt; +dt, +---dt, )]t ot , -, )
k dt1+dt2+"'+dtr:to
L(1)=(nl )" exp{- nl to} (30)
In[L(1 )] = rin(nl )- nl tq 37)
| Tin[L( /M =0
r
7 Mo =0 (39)
| MLE
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T(to) nto
n
q=Yl
-1 _Tlto) _no
| r r
7
700 1 1
1 0hr 3 2
50 h 4 1 50 h 5

MLE

40 hr 600 h 7 |

n=7 r=8 to=700hr

T(tg) =n" ty =7 700 = 4900 hr

(39)

MLE

(40)

650 hr 2
120 hr

I q MLE
.8 _
[ =—>_ =0.001633 fr/hr
4900
q= 4900 _ 612.5 hr
8
3.2
3.2.1
fr(t) =1 exp(-1t),t>0,1 >0
n r r
t, £, £-£1,
tr
lA
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(confidence leve) 9(0< g <1) (confidence
limit) I\ Iy
(corfidenceinterva) o)
g
0.1 y]
| Iy
Pr{l £IAU}:g (42)
IAL IAU
Py £l £ =0 @)
| T(t,) MLE )
T(t,) =ty +to+-+t, +(n- 1)t, 43)
M=— (@)
7(t,)
r T(t,)
T(t,) = n(ty - to) +(n- Dtz - to)+-+(n- r+1(t, - t,.4)
= ér_ (n- i+2)(t; - tiq) (49)
i=1
to =0
U =(n-i+9(t - tig), i =12,..,r (46)
t; (Ui, =12,...,1)
(order gatigtics) Ug, U, Uy
| U; k=1 |
u ~GLl),i=12,..,r (47)
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T k=r |
T(t)=& u ~drl) 9
i=1
T 2 21 T(t,)
27(t,) ~ .~ 9= c2(2r) o)
e 29
( )
2 c?(2r)
g 2| T(tr)
P2l T(t, )£ cf g (20} = 0 (50)
fcz(CZ) 2
cfi.g)(2r)
fcz(cz)
g 1-g
cfi. g(2r) 02(2r)>
2 (c*(2))
2T (t,)
} Cfl-g)(zr)f}_
Pr%l £ 2T(tr) )t;—g (51)
g
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T &
g
~ 1 21(t,)
g =+—= 53
T ch.g)(2r) =3
~ N & Ccf.,2rto
ool )= A &
" g
o g
Mool
{ Clieg) (2) c cf gj2(2r)f _
L 21(t,) 7] )
gl
o) %)
~ Cfigpa(r)
TTo,) 9
fcz(cz)
9
Cleqy2 cfi g2 CZ(Zr);
3
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oL = 1 27(t,) -
'y cfgpalen)

E] 1 ZT('[r) 59
L
L Cugpa(ar)
. . 2 Cf g2(2ritd
R, =expl I yt)=exps- — Y27
-oof Tu)-eoff e -
. . € ¢ 2r)u
R, —epl )= epe SEa2l2)] -
2T(t,)
& H
[ 5 9
r=7 t,=150hr  t, =450h  t3=500 hr
t,=530h t;=600h tg=650h t,=700h
). 090 q
). 090 q
[ 5 n=9 r=7 1t700h
T(t, ) =150 + 450 +500 + 530 + 600 + 650 + 700 = 4980 hr
~ 2Tt
g q qL = ()
Cfig)(2r)
Cfo9)(2” 7)=c§,(14) = 21.064
g=0.90 q
;- 2tft,) _2 4980 _ yon oty
C 6-‘ g) (2r) 21.064
g q
Lo 1.8 oT(t 21(t,) Y
6.au]=6 t)  2r(t) ;
8 firgy2(2r) cfiga(2r)g
Cligy2(2r) = chos(14) = 6,571
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g=090 q
.. é VPY . X
[qL,qU]=§ 27(t, ) | 27(t,) i=¢ 4980 2” 49B0U_ 415 51515 6] by
&chi gy2(2r) clagp(2r)y €23685° 6571 H
[420.51515.8] hr
3.2.2
fr(t) =1 exp(-1t),t>0,1 >0
n I I tl£t2££tr
[O’tr] r
i
I T(t,) MLE I
T(t)=rt, (62)
M=oy ©
T(t) nt,
i
r
t tr =(ts- to) +(t2- to)+-+(t, tr-l):a-l(tl ti-a) to=0
1=
Dti :tl ti-l nl
k=1 nl
Dt; =t; - t;_; ~GLnl ),i=12,...r 64)
r
t,=al(t-t.,) k=r nl
i=1
£
t :_al(ti - ti.g)~dr,nl) (65)
1=
2nl
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19

2nt, =2 T(t,)~ & =2=c2(2r) (66)
e 29
21 T(t,) () 2 c?(2r)
g 21 T(t,)
Pri2l T(t, )£ cf g (20} = 0 67)
Cfl_g)(Zr)
2T (t,)
b chg(@)i_
Pril £ =
" 2T(tr)>l; J ©)
g
. _cfl_g)(Zr)
v = 2T(t,) ©)
g
A1 27(t,) .
T T R g(@)
. . & ct ()6
RL =e><p(— I Ut): p$ C%;T“’)t( ) i (71)
8 g
o g
e r ol
} cfig)2(2) cfi gy2(2r)f_
R ) e I A @
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T (%)
- _chgel@)
| =
u 21(t,) (74)
~ 1 27(t,)
I =—= =%/ (75)
Ty chgplen)
~ 1 27(t,)
Qy =—=—5—+— (76)
U L C81+g)/2(2r)
. 2 Ch.gya(2r)t0
R, =epl- | ,t)=exp$ g
L ( U ) g 2T(tr) B (77)
a ~ é Cé+g)/2(2r)l;I
Ry =expl | [ t)=expé& u 78
U ( L) : Wlﬂ (78)
[ 6 7
r=9 1 1 650 hr 2
2 O 70h 3 2 120 hr
40 hr 4 1 50 hr 5 1
600hr 6 2 FOh  60h 7
(1). 090 q
Q. 0.90 q
[ 6] n=7 r=9 t =700hr
T(t, ) = 650+ 450 + 700 + 120 + 400 + 530 + 600 + 350 + 600 = 4900 hr
~ 2T(t
9 q q = )
Cgl- g) (ZI‘)
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cfog)(2” 9)=c3,(18) = 25.989

g=090 q

G = Z) 20 400 _ o0
L= = =377.
chgler) 25989

9 q

€ 21(t,) 2T( ) 9
[Oh_ QU] é+g/2 Cf

C

Ciugya(2r) = c§os(18) = 9.390

cfl_ 9 /2(2r) = cZ ,5(18) = 28.869

g=090 g
~ .1 € u
[qL,qU]=§ 27(t,) | 27(t,) 1_ €27 4900 2° 49000 _ - [330.510437] Ir
6ch oy2(2r) chiga(2r)y £28.869 " 9390 H
[339.51043.7] hr
3.2.3
fr(t) =1 exp(-1t),t>0,1 >0
n to
[O’tO] r t1£t2 ££t|’
to
T(to) | MLE
-
T(to) =ty + to+-+t, +(n- r)tg (79)
=1 &)
T(to)
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N(to) nl t,
nltg)'
Prin(io) =L e i) &
3.24
fr(t) =1 exp(-1t),t>0,1 >0
to
[0,tc] r t, £ty £-£1,
| T(t) MLE
:
T(tg) =ty + to+-+t, +(n- rtg
|A _ I
T(to)
to r
T(to)
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1: (e
Pr{02 : C?-g)}: 1- 9
g 1-g
) Z(n)

n\a| 099 0.95 0.90 0.80 0.50 0.20 0.10 0.05 001 |n\a
1 | 00°157 007393 00158  0.0642 0455 1642 2.706 3841 3626 1
2 | 00201 0.103 0211 0446 1.386 3219 4.605 5991 9.210 2
3 0.115 0.352 0584 1.005 2.366 4642 6.251 7.815 11345 | 3
4 0.297 0711 1.064 1.649 3357 5.989 7.779 9483 12277 | 4
5 0554 1.145 1610 2343 4351 7.289 9.236 11070 15068 | 5
6 0.872 1635 2204 3070 5.348 8558 10645 12592 16812 | 6
7 1.239 2.167 2833 382 6.346 9.803 12017 14067 18475 | 7
8 1.646 2733 3490 4594 7.344 11030 13362 15507 20090 | 8
9 2088 3325 4168 5.380 8.343 12242 14634 16919 21666 | 9
10 | 2558 3940 4.865 6.179 0342 13442 15987 18307 23209 | 10
1 | 3053 4575 5578 6.989 10341 14631 17275 19675 24725 | 11
12 | 3571 5.226 6.304 7.807 11340 15812 18549 21026 26217 | 12
13 | 4107 5.892 7.042 8634 12340 16985 19812 22362 27688 | 13
14 | 4660 6.571 7.790 9467 13339 18151 21064 23635 29141 | 14
15 | 5229 7.261 8547 10307 14339 19311 22307 249% 30578 | 15
16 | 5812 7.962 9312 11152 15338 20465 23542 26296 32000 | 16
17 | 6.408 8672 10.85 12002 16338 21615 24769 27587 33409 | 17
18 | 7015 9.390 10865 12857 17338 22760 25989 28869 34805 | 18
19 | 7633 10117 11651 13716 18338 23900 27204 30144 36191 | 19
20 | 8260 10851 12443 14578 19337 25038 28412 31410 37566 | 20
21 | 8897 11501 13240 15445 20337 26171 20615 32671 389N | 2
2 | 9542 12338 14041 16314 21337 27301 30813 33924 40289 | 2
23 | 10196 13001 14848 17187 22337 28429 32007 3172 41638 | 23
24 | 10856 13848 15659 18062 23337 29553 33196 36415 42980 | 24
25 | 11524 14611 16473 18940 24337 30675 34382 37652 44314 | 25
26 | 12198 15379 17292 19820 25336 31795 35563 38885 45642 | 26
27 | 12879 16151 18114 20703 26336 32912 36741 40113 46963 | 27
28 | 13565 16928 18939 21588 27336 34027 37916 41337 48278 | 28
29 | 14256 17708 19768 22475 28336 35139 39087 42557 49583 | 29
30 | 14953 18493 20599 23364 29336 36250 40256 43773 50892 | 30
40 | 22164 26509 29051 32352 3933 37263 51805 55758 63391 | 40
60 | 37485 43188 46459 50647 59335 68969 74397 79082 88379 | 60
80 | 53540 60391 64278 69213 79334 90403 96578 101879 112329 | 80
100 | 70065 77929 82358 87950 99334 111667 118498 123342 135807 | 100
200 | 156432 168279 174835 183006 199333 216618 226021 233994  249.445 | 200
Z, | -233 -164 -1.28 084 0.00 084 128 164 232 | Z4

cg(n)@%(za +42n- 1)2
c3.90(30) @%( 1.28+/60- 1)2 = 20.487
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